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1- Write a program that implements the following: (use the double type)
· Write a function area(width,length) that calculates the area of a rectangle with given width and length. (5 points)
· Write a function perimeter(width,length) that calculates the perimeter of a rectangle with given width and length. (5 points)

· Write a function scaled_rectangle(scale, width,length) that modifies the width and length of a rectangle by multiplying each by the scale. Use value parameter and  reference parameter when necessary.(10 points)

· Write an interactive program that asks  the user to enter the width and length of a rectangle, and uses the previous functions to calculate and display its perimeter and area.(10 points)
· Add code that asks the user to enter a scale factor, and uses the previous functions to calculate and display the perimeter and area of the scaled rectangle.(10 points)

· Creates a data file called “rectangle.dat” in which to store the width,  length, area, and perimeter of the scaled and unscaled rectangles of the previous questions. (10 points)
2- Consider the function sum(n)= 1+1/5 +1/10 +… +1/5n .

· Write a nonrecursive version of sum(n). Use it to calculate sum(100). (10 points)

· Write a recursive version of sum(n)= sum(n-1)+ 1/5n. Use it to calculate sum(100). (10 points)

3-  Implement the following code:

· Write a boolean function multiple(a,b,c) that returns true if any of the three integer arguments is a common multiplier of the two others. (10 points)
· Write a function largest (a,b,c) that returns the largest of the 3 arguments. (10 points)
· Write code that reads three integers, checks if any of these three integer is a common multiplier of the two others, and displays this common multiplier or displays “No common multiplier”. (10 points)

